Answer of Class Practice 2.5

4)
Given that 
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 , find the values of A, B and C.


Obtain the expansion of 
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 in ascending powers of x up to and including the term in x3. State the set of values of x for which the expansion is valid.


Ans:
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Since 
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 and by comparing coefficients, we have
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(2) – 2 x (1), we have A – 2C = -5……(4)

(3) – 2 x (4), we have 5C = 10,  i.e. C = 2

Hence  B = 1  (from (1))  and   A = -1  (from (4))

Ans:  A = -1 , B = 1 and C = 2.
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The above expansion is valid when |x2| < 1 and |2x| < 1, i.e. |x| < 1 and |x| < 0.5,

i.e. 
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5)
If x were sufficiently small for terms in x3 and higher powers of x be neglected, prove that
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Proof:
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